Puissances de Dix (B)

Trouvez chaque produit ou quotient.

2,797 x 10 = 5,7921 x 1000 =
2,1203 x 10 = 6,597 x 1000 =
8,73 +10 = 3,7%x1000 =
2,1796 X 10 = 2,88 x1000=
5441 -+1000= 4,982 x 1000 =
52-+100 = 4,6723 x 1000 =
4,0133 x 10 = 4,27 x 1000 =
6,91 X 1000 = 1,69 - 100 =
7,14 x 1000 = 6,904 X 100 =
6,2+ 10 = 7,75 x 1000 =
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Puissances de Dix (B) Solutions

Trouvez chaque produit ou quotient.

2,797 x 10 = 27,97

2,1203 x 10 = 21,203

8,73 +10=0,873

2,1796 X 10 = 21,796

5,441+ 1000 =0,005441

5,2+ 100=0,052

4,0133 x 10 =40,133

6,91 x1000=6910

7,14 x 1000 =7 140

6,2 +10=10,62

57921 x1000=5792,1

6,597 x 1 000 =6 597

3,7%x1000=3700

2,88 x1000=2880

4,982 x1000=4982

4,6723 x1000=4672,3

4,27 x 1000 =4 270

1,69 +~100=0,0169

6,904 X 100 = 690,4

7,75 x1000=7750
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